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sheep deer flygoose
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deer fly
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fly

goose

sheep

deer
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Are these sheep ?

I see two geese 
and three flies .

What do you see?

No,  these are deer .



butterfly 
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a fly two flies

I see a fly. I see two flies.
butterfly 

a candy three candies

I see a candy. I see three candies.

Another example:    strawberry – strawberries



butterfly 
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a goose two geese

T his is  a  goose. T hese are two geese.
butterfly 

T his is  a  tooth. T hese are three teeth.

a  tooth three teeth

Another example:    foot – feet



butterfly 

8

a deer two deer

T his is  a  deer. T hese are two deer.
butterfly 

T his is  a  sheep. T hese are four sheep.

a  sheep four sheep

Another example:    fish -- fish
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P lural FormS ingular Form

fly

candy

goose

sheep

tooth

deer



a. I see two deers.

b. I see two deer.

a. These are three flies.  

b. These are three flys.

a. Are these geese?

b. Are these geeses?

a. These are sheep.

b. These are sheeps.
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- What do you see?
- I see two ______ 

and three ________.

- What do you see?
- I see _____ _____ 

and _____ _____.

- What do you see?
- I see _____ _____ 

and _____ _____.
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- Are these  ______?

- Yes,  _____ are _____.

- _____ _____ flies?

- ____,  ____ ____ ____.

- _____ these  geese?

- No,  _____ are _____.
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Are these. . .?

I see. . .

What do you see?

Yes/ No,  these are. . .



Today,  we learned :

Plural Forms of Nouns

e.g.  fly – flies             candy - candies1.  Regular P lural Nouns:  y -- i + es
I  see two flies.

2.  Irregular P lural Nouns:  oo -- ee e.g.  tooth – teeth goose – geese

Are these geese? 

3.  S am e Form  for S ingular and P lural Nouns e.g.  sheep – sheep     deer – deer

T hese are deer.
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